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Combined Graduate Level Examination (Tier-Il), 2018

[Roll No.

|Registration No.

Name

Test Venue Star Computer Lab

Test Time 10:00 AM - 12:00 PM

Test Date 13/09/2019

Subject CGLE Tier Il Paper | Quantitative abilities

Section : Quantitative abilities

Q1 == F =R 9 wF &% 6 Fs 12 dew § afy sEw 18 e 9 few R o § o sEer
T TR 30 T #= T A g & & =i (@ #) A

Ans W 15
<245
X3 4
X455

Question ID : 558101619

Status : Anewered
Chosen Option : 1

Q2 o 3, AABC &1 BC &7 X D &7 99 &ar § awr E 3N F o FAw AB 3 AC & #) oy
AB = 10 @3, AC = 8.6 &=, 3t BC = 6.4 ¥+ &, &t BE =?

Ane X122 @
X232 3
X3 35 FFr
v 25 3

Question ID : 556101588

. Not Attsmpted and
Status * erked For Review

Chosen Option : =

Q8 Tfr(5¢—3)3+ (2x+5)3+27(4—3%)* =93 —50)(2x + 5)(3x —4) ¥, T (2x+ 1) F AT FAT gEA?

Ams K1 —13
X2 —15
<313
v 15

Question ID : 558101524
Status : Not Answered

Chosen Option : =

Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In
AABC # AB 3 BC si=msit X D 3K E g 5@ v&R ffwra § & DE || BC

3 AD: AB =3:8 §| @ (ABDE) FT 89wl : (Iqeist DECA & &19%d) =?

ans X1.8:13
<29:55
<3 9:64
v 25 : 39

Question ID : 558101534

. Not Attempted and
S1alUs Merked For Review

Chosen Option : =

Q8 T=fafiE g7 3@ (TE-TR) # v Reanedf gaw 9w Rt - A, B, C, D 3K E - # wrd g
Il w1 e (Fa) ZEr T §1 Yoiw Bea A wfiean 3w 150 § At 3u $w 600 3 W
& ¥

C 3 E Fvai # faganft & gaw wo7 3+ 3%, 37% 2@ A #R D # a9 3w ¥ fae ghee
wfeer 372

Ans X1.10.25%
V' 2 9.09%
<3 8.33%
<4 7.26%

Question ID : 558101555

Status : Anewered
Chosen Option : 2

Qe mmmﬁmmmwmmmm%|mmﬁywmm
HET F A FT &7

A X1.1:4
v21:3
<3 1:1
Ka1:2

Question ID : 558101510

Status : Anewered
Chosen Option : 8

Q7 R HABCHDAHIFR IO TN E FAMBF s am s 2: 3, Bl Cc &
T &1 3N 11 2 9T C X D & o7 &0 391 3 : 4 @im 81 TG A 3% D ¥ Teewi # 2648 F
HaT ¥, o 3% fesw & ufdr & @ o geme

Ans X 1. 32,484
< 2 32,160
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/< 3 1,944
v 4 T2,052
Question ID : 558101493
. Not Attempted and
Status . Marked For Review

Chosen Option : =

Q8 2.8 FHex fisar aem, w15 e T T Tar e ¢ AR EE Tl W A awE w0k 8 A
dter 3 1.5 #eT T T TGN S G §1 $H TGN A w1 §7 (w0 =2 A)

Ans X1 28.8 X
v 2 308 Hrex
X3 30.2 HreY
X 4 284 HeY

Question ID : 558101518
Status : Anewered
Chosen Option : 2

Q9 afy e AR GERT o TEA 1 AEcaA TENEAE A S T, Haw "= 17 § AT s
FAEA 1, 11 3R 2 g7 2 &, & 37 =T AT’ F FET T4 e

Ans 1. 833
X 2 867
v': 816
X 4901

Question ID : 566101469

. Not Attempted and
Status * Merid For Review

Chosen Option : =

Q10 T=fofea 300 s (TE) # o Begmet ganr 9w fwEi - A, B, C, D 3R E — F yra 7+
At o TS (33 g T ¥ 9eis Rew & sfiwas s 150 § AR s 3 600 3w A
e &

gzt & g=mr B 3t D fawaf & g et F frgar 3=t &7
Ane X1, 27

v 2 20

X3 30

X412

Question ID : 5668101588

. Not Attempted and
Stalus * Meried For Review
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l Chosen Option : —

Q11 25 zafea Bl = #1 60 Rt & T & w= 1 FeEla =W w0 g AT o RE & A 10
mﬁﬁﬁmtﬁg%muﬁ:mmm%ﬁﬁwgma‘u FT AT FT &7

Ans X1-8
<215
v 12
<49

Question ID : 558101507
Status : Marked For Review
Chosen Option : 2

Q12 37 e et § 2001 = HAT ¥ SE TEA T S TEW ¥ BT e W s 9 3t 9w
41 F=aT ¥ S HEAT & HR FT AT FAT 2T

Ans X115
X2 11
v's 14
X410

Question ID : 558101472

Status : Anewered
Chosen Option : 8

Q18 =fer areh s F 72% @ AW AT ¥ IR SWET AW E 20% & g% g ¥ ot swd wwa &
15% Fr 3z & A &9 35 T # Faw viowd &1 IR @E? (0% cor|es TUF o H19)

Ans X 1.20.2%
X 2 20.8%
X 3 19.8%
v 219%

Question ID : 566101474
Status : Not Anewered

Chosen Option : =

Q14 e @ afy i 60% ?rﬁ-'rﬁaa?rgtr UF AfFd H9 ITTT TIA 9T 1
m4oﬁma&ﬁqgam%|ﬁqu§ﬂﬁﬂmmm
(=T #) &

Ans 1

K132
4

: 1
v22_
2

1
<3 3=
8
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F 0
4

Question ID : 558101503
Status : Not Answered
Chosen Option : =

Q15 g FEaT 3 : 5 &% U # ¥ T 9o A ¥ 13 wern =, o 7% wewr 10 0 21 F
I H 9T g &1 afe Hqor w7 15 A @ e, & @t & $" g
T g1 ATTem?

Ans  of1.24 : 35
X223 : 33
K<35:7
X44:5

Question 1D : 558101490

Status : Anewered
Chosen Option : 1

Q16 =16 oy o T2 & 39.6 T wEw & 28 9y BN g5 W e BN Awe S w e
& TR Fr 329.90 Fr a7 W I W 15% FT =T P

Ans o133
X2 35
X3 32
X 4 31

Question ID : 558101498

. Not Attempted and
S1alS * Meried For Review

Chosen Option : =

Q17 S=RRT =-3w @N-TTF) & HeOOS ST T BT 7T T 5 50T A

Demand and Production of yeles of five panies in
2016 (in lakhs)

80 m Demand
72 75

70 65

™ Production

60 55 55

50

50 45

40

38
40

30
20

10

o

A B C D E
Companies

FFr C, D 3N E % gaNT FieT@sihal & $o Feaea, T Iu F G wefr Fieat $r werasthat

& For AT & e wfoers #4132
Ans X1 47

X2 43

X 3 38

v 32
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Question ID : 558101558
Status : Not Answered
Chosen Option : =

Q18 (1 + cotl — cosecO)(1 + cos + sinf)secd FT AT FIT g7

Ans X 1. sinBcosP
V22
X3 2

/< 4 secBcosech

Question ID : 558101548

Status : Answered
Chosen Option : 2

5
0-1’ In an office, 5 of the total number of employees are males and the rest are females. g of the number of males are non-

technical workers while ; of the number of females are technical workers. What fraction of the total number of

employees are technical workers?

Ans

olw ey = oo

Question ID : 5568101478
Status : Not Answered

Chosen Option : =

w In a circle with centre O, ABCD is a cyclic quadrilateral and AC is the diameter. Chords AB and CD are produced to
meet at E. If 2CAE = 34° apd £E = 30°, then £CBD is equal to:

Ans X1 24°
< 2 36°
v 3 26°
X 4 340

Question ID : 558101587

 Not Attempted and
S1alUS Meried For Review

Chosen Option : =

Q21 ApgrR #,,P=120°, ST PSLQR ¥R PQ + QS = SR &, aF 2Q & AT r aem?
Ans x1' 200

< 2 50°

V'3 40°
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X 4 30°

Question ID : 558101535
Status : Not Answered
Chosen Option : =

Q22 28+ 10V3— 7 —4V3 o B i § ¥ frwd wad 3w e §?
Ans X1 7.2

<258

~< 3 6.1

v 8.5

Question ID : 558101467

Status : Answered
Chosen Option: 2

Q28 o7 200520+ 3sind =3 , & 0°< 8 <90° &, ar sin?26 + cos?8 + tan®28 + cosec?26 F AT F4AT
grEm?
Ans 29

1. v —
x 6
29

2. —
x 3
vz
X

Question ID : 558101546
Status : Anewered
Chosen Option: 8

Q24 o g B aEg F sfea TEa TWO18% F Ge &A1 §, W F o 23% @ ans ST w
Iy a7 Ivg $1 Fhr T T18.40 w0 Ao e &, A ITG F HFT Arw A 2

Ans  of 1 F120
X 2 7146
X 3 F125
X 4 7140

Question ID : 558101484

Status : Anewered
Chosen Option : 8

Q26 ; b a<b<ac ¥ 79 & & firew §1 7R ¢ @ 2 qEro feiee R ser ¥ A afom 2
m%‘,a‘rbﬁ? 38 7 a,baﬁ:ca;ra’mg % (Ra+b—c) 1 AT FATE?

Ko
X2

Ans

R
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Question ID : 558101466
Status : Not Answered
Chosen Option : —

Q.26 T TGS ABCD H, £C=72° HRW 2D =28" §1 24 N 2B F e O W e §1 2408 #Hr
AT FT 2R

Ans X1- 480
K 2. 540
<3 36°
v 4 50°

Question ID : 568101540

Status : Anewered
Chosen Option : 4

Q27 wur 80 TEGR THEA HeT W WA ¥l 3 5 W FO FEGH A 8% wmw W R = gf wwgst
F 12% F THEE W AT BTN TUE 3T FF AT 6% F A @ &1 8% T 9 T

Ans X164
v 72
X3 60
X4 70

Question ID : 558101479

Status : Anewered
Chosen Option : 2

Q28 = 5w g IO F AU T Fewr 20% @ & S | W FAS # fhaen gfded w # ar
AT TS 38F HOET Teo foaeT & 54T w2

As X128
X2 302
X3 25
v 302

Question ID : 558101518

Status : Anewered
Chosen Option : 4

Q29 A48 3 AB 3R AC T Fmer fig D 3R E 3@ 9K ffwa § fF AD x AC = AB x AE ¥ afy
2ADE = £ACB+30° 3ffv £4BC =78°%, & 2A="7

Ans X 1. B8°
< 2 48°
Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In
X 3 56°
v 4 54°

Question ID : 558101536
Status : Not Answered
Chosen Option : =

Q.30 Ffy 55 +242y° = (Ax++2y)(Bx? + 2y + Cxy) &, @ 4>+ B> — (> & A T2 ge e
Ans X115

V2 20

< 340

< 4 30

Question ID ; 5681015628

Status : Anewered
Chosen Option : 2

Q.81 A 3T sEe get ¥ e & B i C, et Bee) wy Pt w9 F g A #h B Bl w A
36 Ret & ww wa #3 C ke 3 w1 Y 60 R F v wwar #1 A st C I e 10 /S
T F F §1 B AY F 3 Brae RE F g Fem?

Ane X188 R
v 2110 &=
X384 Re
<490 fE=

Question ID : 558101506
Status : Not Anewered

Chosen Option : =

Q82 A4BD # C, BD & mew fig ¥1 7R AB = 10 @&, AD = 12 ¥ 3l AC = 9 @# &, & BD =2
Ans X110 TH

V2 241 B

<3441 OHE

K 4 2410 T

Question ID : 558101529
Status : Answered
Chosen Option : 2
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TrefefET snm & e 5 R & o Regew F Remfiet & a=a @ g mr &

60
50
40
30
20

Number of Students

10

0
40 45 50 55 60 65 70 5

Weight (in kg)
50 e § F7 97 I et &1 g=m, 55 e o 3uw 30w a9 I e ¥ fhae
gfera 7 27

Ans X1, 40
X2 30
X 3 55
v 44

Question ID : 5581015652

Status : Anewered
Chosen Option : 1

A% o3 (1277 + 9777) Fr 32 & Renfaa few e & & e O =T 2
Ans JTO

<2 4

<32

K47

Question ID : 558101468
Status : Anewered
Chosen Option : 1

Q88 12 3 3R s T H#R 15 WA I OF 39 39 F WU 2 fEeite 59T I o= E
Tl el #1 HER T OF gl Solie Eelar 9 ¥ F § A Memr @ e 3 @ g oo
FT AT FTE?

Ans X127
~ 2 64
X 3. 54
V4 48

Question ID : 558101812

Status : Anewered
Chosen Option : 4

Q“T.Iﬁ;x_\f_‘]iﬁh’ FH{HH{F%’E‘TX'FJ’ FT AT FIT gEM?

JVeo+/12s
Ans \f1 223
36
221
x 2 22
36
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?(4.?

Question ID : 558101471
Status : Answered
Chosen Option : 1

Q.37 Two parallel chords on the same side of the centre of a circle are 12 cm and 20 cm long and the radius of the circle is
5v/13 cm. What is the distance (in cm) between the chords?

Ans X125
X215
W32
<43

Question ID : 558101599

. Not Attempted and
Stalus : Merid For Review

Chosen Option : =

QI8 = wr-Rufas &1 3R v AR o § R dewe 1673 @@ & ¥ oy e B o
TedfT FoAF FT &A% 30 T WA §, O IAH FaE (@A) Fw

= 1. jE

12
™2 AR
12
o3 [l
12
> 4 pEA
12

Ans

Question ID : 566101508
Status : Not Anewered

Chosen Option : =

QB9 = =T 725,000 F TET F wE-TiUTE ST FTFUROT =S F T BT &7 9T 3T o afir &=
4% wfa a¥ 1 3= g W e Far ) afx 2 aut & e $w 4,125 s 9 g § A g A
= gfada T $r sae 5T w4 o4

Ans o 1 9.25%
X 2 9.5%
X 3 7.5%
X 4. 5.25%

Question ID : 5568101486
Status : Not Anewered

Chosen Option : =

Q40 14BC F A = wH- gf¥w=E BC & D T fiwar ¥ Of AB = 15 ¥, AC = 13 @9f s BC = 14
@ &, o DC =7
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A o165 B
X2 8 @Y
X3 85 I
X4 75 7

Question ID : 558101530

Status : Anewered
Chosen Option : 1

QA1 ofx B 3g 51 ey gew, 3E% A9 GeU ¥ 32% AW ¥ AN 9 ¥ T g w & g
12% g1 aF oFa Heg AR 3ifd 7oa #1 e = g7

A f1.2:3
<24:5
X33:8
Ka1:2

Question ID : 568101488
Status : Anewered
Chosen Option : 1

Q42 35% FEgat F 65% ¥ a7 9T FT A Ak wh gE At B % F gl o a4 Ry 5w aw
mgﬁrﬁmm%a‘lﬁrgﬁg‘rfﬁx FT AT FAT EFT? (T AHAT TUH o TET)

Ae X 1.51.8
<2 50.6
V'3 535
<4524

Question ID : 558101482
Status : Not Answered

Chosen Option : =

QA8 416 famh &1 gt T F 3 A BET B @ 22 0¥ s e ¥ | ARy A il @ @ s A
T B W 11 W FH FAY wNCA| 7 A F A (Refvee #) Fw

Ans X1 b4
<2 56
V'3 52
<+ 65

Question ID : 558101500
Status : Not Answered

Chosen Option : =

QM4 A ol = F v-PEE #1156 Rt F ¢ @ear ¥ B 5@ @9 & 75% T @ 18 Rt & s ¢ @
FT Fr 36 oA H FT OFaT £ B 3T C, 8 TEA 7 U @1y FE w1 £ A 9W w1 F ok e
&7 & T FEm?

Ane X124 RS A
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V220 AT F
<316 TAT A
<418 AT A

Question ID : 558101505
Status : Answered
Chosen Option : 2

Q45 ws olem #, A T B ¥ 10% 3w, B F C & 20% HfoF 3% wroa frw fhg C© I D & 32% wA Iw
mﬁwmﬁAa#c@znaimmmngﬁBaﬁﬁﬁmﬁmmgw

Ans 1. 850
v'2.1020
X3 816
X 4. 952

Question ID : 558101475

Status : Anewered
Chosen Option : 2

QA6 i 5x—2y+1=0 3R 4y—3x+5=0 & AH, ¥ P(a,f) W THIA F FEal ¥l (20— 35)
F A F 7

A o1 4
X2 —4
<36
x4 -3

Question ID : 558101520

Status : Answered
Chosen Option : 1

Q47 oo 3eIl A1 E@RT, URT & wfdger 900 e i gl 12 e # T W
TeraT g AR aifee g 9 9 fee # aw o wear g1 39 e # R
I & Ay (RREe &) e &2
Ans X-IB
1
Xz.d.;
X35
> 1
v 5;

Question ID : 5668101601

Status : Anewered
Chosen Option : 4

Q48 - BSﬂTCﬁWW?WﬁTﬂTIA?ﬁ?&rHﬁﬂﬂT B & ar fader & Jur C & I fder
aw%\uﬁmm#ﬁcam#ﬂs&m% a’rAmraqarmgﬁ?rr?
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Ans 1. 39,726

v 2 76,484
< 3 78,105
< 4 37,272

Question ID : 568101496

Status : Anewered
Chosen Option : 2

Q4 24%x2+12+12+60f2+(15+8 X 4) of (28+ 7 of 5) mr:nmw%"?
Ans 32

X1 4 .
X< 24

W4
X4 4

-] L S X
o=

Question ID : 558101461
Status : Not Anewered

Chosen Option : =

Q80 o= = Rrwer 7 S 18 A ¥, AU Tow AR o Pegw ¥ TR g 5 A 8 e ek
12 0 &1 swer ored 55 -89 (37 G #) Baer 87

Ans X1 432
V' 2 450
X 3 486
X 4 468

Question ID : 558101517

Status : Anewered
Chosen Option : 2

Qb1 2(sin® @+ cos®F)—3(sin* B +cos*6)

cos*@—sin*0—-2cos2 @

FTATFATE ?

Ans o1 A

<22

K3 —2

X1

Question ID : 566101644
Status : Anewered
Chosen Option : 2

Q.52
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ABIRCHF2:3:5F 3gua & 5 e T Ha0T YT FAT| STFET YT w4 TR

e, A el I 50% @ & § 3 B, 6 7AW A1 RN IS 33-% F@T 44T § @ C, 8 A e
3TN 50% &N ferer A 7 3ME A F 3w A Fo Ay 186,800 I &, o AW A A AR C ¥ fwt
FT AT & AT?

Ans 137,000
X 2. 39.800
X< 3 8,400
v 4 312,600

Question ID : 558101497
Status : Not Anewered

Chosen Option : =

08 0474 0503—039% 0.8 T AT T 7

Ane X1 0.615
X2 0615
<30625
v 0625

Question ID : 558101462
Status : Not Answered

Chosen Option : =

QB4 :+y—3, 2x+5y=12 WAEOT 3T x0T F 3@ F 42 BT T WIAFR ST F ETEA
(@ gFg #) 7 2

Ans X-L B

4
V33
2

Question ID : 558101521
Status : Not Anewered

Chosen Option : =

QB8 o fagamf #r 92112 of 14 (12x 122 x 22 of 2+t of 2 A TR ¥ fov FT M| SHH
BFIT19§ TT| 3HF 3ca7 AT O Ioaw A fraer e §7

X7
X2 6
vz 7
X 46

Ans

LT I R T U S

Question ID : 558101468
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Status : Not Answered
Chosen Option : =

Q.56 =ET F FE-EAT WA 15% % T ¥ 3T 3HET 399 ¥ig 92 20% A% §¢ T 3Hey &faw aw
forer ofere % T3 T2

Ans X136
X2 35
v 38
X 4 40

Question ID : 668101477
Status : Anewered
Chosen Option : 8

Q87 zfx 10 3/ T FEAT 5432y1749x TEA 72 F Temew ¥ S (5x—4y) w AT w72

Ans X110
v 2 14
X3 9
X 415

Question ID : 558101460

Status : Answered
Chosen Option : 2

QB8 o ma ¥ gt A R W P AR Q, @ Rig ¥ P sk Q & Bwm ¥ T F M F e wor
F: 60° X 30° & FuT 3ok &= & gl 843 FHex ¥ ms F S (e AFw 7

Ans X160
v 2 63
X3 525
X4 735

Question ID : 5581015581

Status : Answered
Chosen Option : 2

Q69 o s #r apeT 12 Ao, 35 WA 3T 37 A ) Feger F RS (circumradius) T §2
Ane K17 @

X219 A

V'3 185 THr

X 4175 I

Question ID : 556101528

Status : Anewered
Chosen Option : 8
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10.5 ##fr f=am 3T 120° 7 For 9 ve Bea-uE (FF) F T 0F o & o, $EaT a1 §iAS
Frsamatt & e J57 = g aﬁg‘vaig:a:rma—‘m%‘? (cm3 #)

Ans v 3432

12

F[A

x 2 34343

12

F[A

X 3. 34343

&

F[A

X 4 34342

&

F[A

Question ID : 558101516

Status : Anewered
Chosen Option : 8

Q61 aBc # BELACCD LAB @ BE 3iX CD W UHE@ & O T F1ed §1 <0BCAR20CB &
TH-EaeTw P W e €1 9 2BPC =148 & & 24 & 71T T g2

A o 64°
K2 28°
X3 56°
K4 32°

Question ID : 558101581

Status : Answered
Chosen Option : 1

Q62 vw g F 3w T S F1 32 ey Ot ¥, o aww AR AT H T 5 3 Y M A H

12mmmﬁﬁmm%3ﬁtmﬁ7i ey ser e fomr e &, 9o 9 # e
R s FT s T e

s o1.5:6
KX24:7
X34:9
<4811

Question ID : 558101499
Status : Anewered
Chosen Option : 1

Q68 o = e 20% T W = & g $EA @S 819 T FA @ S ¥ 58 W =@ & R whww

Ans X1 10% T FHT
X 2 5% &% HAT
X 3. 5% T FiE
v 10% T 3

Question ID : 558101476
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Status : Answered
Chosen Option : 4

Q64 ¢ 7o 15% i a¥ gy warer @ § 22 a6t & agET 24205.55 @ ST 1 How,
Ttataa # & e &2

Ans % 1.32,700
X 2. 33,200
X 3 33,500
v 4 33,000

Question ID : 566101488
Status : Not Anewered

Chosen Option : =

Q66 urg v ¥ BT g A = RwwER Tt SR OF s e ¥, fredr B 5w e Ay
& 3 7T & U EE TS gedw aer & Rewr & 4 7w | N A Reer 32

Ans X1.30
V2 27
X3 24
X 4 36

Question ID : 558101518

Status : Answered
Chosen Option : 4

0,“ In APQR, £Q > £R, PS is the bisector of £P and PT 1 PQ . If £SPT = 28% and £R = 23°, then the measure of £Q is:

Ans Jl 79°
< 2. 89°
X3 74°
X 4 g2°

Question ID : 558101527
Status : Not Answered

Chosen Option : =

Q67 v arg 14% % w9 AN S ¥ AR 5@ Sk 121 FA F A= T A 8% @ e v AR
S8 IFg ¥636.25 F ¥ Feh, & amvEty F s F e

Ans 3 1. wme, 5%
o g, 2.5%
X s gifE, 5%
X 4 ae, 2.5%

Question ID : 558101481

Status : Anewered
Chosen Option : 2
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2o W52 3
V42T V542 72

Ao o ST
X2 2442
V'3 42
X4 245

Q.68

= T AF FaT 87

Question ID : 558101468

. Not Attempted and
StalUs  Meried For Review

Chosen Option : =

Q8 0 (5x+2y):(10x+3y)=5:9 ¥ ar (2x? +3y?): (4x% +9y?) =
Ans  of1 31 : 87

X216 : 47
7534 :3
X410 ; 27

Question ID : 558101491

Status : Answered
Chosen Option : 1

Q70 w=v A st B e @1 s A WET §, ST WY C S B Qe S aren 9T ¥ A 3K B & @
FA 72 T 90 fAFe # 5T T ¥ =€ S 9=ul S v @ ST 1ar & ar 6 2 O F oY A
&1 urET A 3T B & 12 fee & v ve @y @tar Sar g, O 3§ s 9IS C & @iel ST 2
T fFae 9FT # T g S

A X112 e
X215 fi=se
V'3 18 e
X< 416 e

Question ID : 558101504

Status : Answered
Chosen Option : 1

Q71 o= s dow ¥ AR B e 3 W ¥ S sEE aF Tre-aT 60n I A B dew w1 smaee
(FFHC H ) e &2

Ans X 1. 81m
X272n
v:90n
<4 B60m

Question ID : 558101511

Status : Anewered
Chosen Option: 8
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Q.72 710,500 #r fdr wfy ¥ wrwoT F@er Fr R PR @ o 82 ot F wewv 213,825 @ o ¥ AR
T FT T I H AT AT AT A 3 qfr 7 5 At & e wemor sune fahaen gem?

Ans XK1 38,670
v 2 8,750
< 3 38,470
< + 8,560

Question ID : 566101487

Status : Not Anewered

Chosen Option : =

Q78 TrRET E-INE (ER-ITE) F HeITE BT gUr T T weT F7 3eR AR

Demand and Production of yeles of five panies in
2016 (in lakhs)
80 m Demand
42 75 ,
= 65 = Production
60
60 55 55

50
50 45

38
40
30
20

10

o

A 8 G D E
Companies

A, C 3T E safadl &1 drecastre & ga AT 9uT s9e B X C & §o somgs & 3 w47 &7

Are K11:1
X22:1
X311 :10
vi3:2

Question ID : 558101557

Status : Anewered
Chosen Option : 4

Q74 % x+y+z=6xyz=—10 qur x> +y>+22 =30 ¥ ar (3 +y® + 2°) FTAT FATEM ?
Ans X1 127

<2130

V'3 132

< 4135

Question ID : 568101525

Status : Anewered
Chosen Option: 8

Q76 A B 3t C o= T F FHA: 80%,85 % AR 75% TH A §1 AE IAH AT H HAA 8 1 9 120
2 gur A 3T C & 3 # 718,000 = 3ET &, @ B Fr 37 Fm g

Ans XK1 224,000
X 2. 236,000
v 3 327,000
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Question ID : 558101492
Status : Not Answered
Chosen Option : =

Q76 o= gr-agys ¥ voiw awd wor & A (512)° ¥ g fol & w3 s e # wen
FT FT FT E?

Ans X 1.5 : 2
~23:1
via2:1
<413 :6

Question ID : 558101688
Status : Anewered
Chosen Option : 8

Q77 TrREE fT-ATE (AR-ITE) F AT BT FoT BT AT e # 3eX A
of in

Demand and Producti m ycles of five panies i
2016 (in lakhs)
80 mDemand
72 75
5 s = Production
60
60 55 55
50
50 45

40

30

20

10

o

C
Companies

39 HUAT T AETT TR, SAF @R HEERRE #1395, g9 a6 F Aeasiiar fr dtwa amr
@ T F s o e

Ans 511
X2 2
<3 4
Vi3

Question ID : 568101666
Status : Not Anewered

Chosen Option : =

Q78 (sinf —cos@1 +tand +cotd)
1+sinfcosd

Ans  of 1. gsecO — cosech
< 2 cosech — sech
< 3 tanB — cotf
< 4 sinf + cos@

T AT FT 87

Question ID : 556101542
Status : Not Answered

Chosen Option : =
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Q79 13 gmmatw dma 375 Y AR s T w dlEE x S A e A S I L, ST @t F
siteg & 1 #r 925 & = ¥ o A ?

Ans X1 385
X2 42
v 415
X 4 40

Question ID : 558101498
Status : Not Answered

Chosen Option : =

Q80 Frmfaf@a gea M@ (T8-18) & v Reameft gawr o fwdt - A, B, C, D 3R E - & rF Far
At o TS (Fa) g T ¥ 9o Rew & sfiwas s 150 § AR 3 3 600 I A
far &

Rt @1 Reeet Rewafrwdt o st stowr 3t & e si S g2
Ans x1.4

<23

<31

Va2

Question ID : 558101554
Status : Not Answered

Chosen Option : =

Q.81 sec @ cosec” 8

cosectf sectd

Ans X1 1
X20
v -2
X2

— (see?0 + cosec’d) FTATTFATE?

Question ID : 558101548
Status : Not Anewered

Chosen Option : =

Q82 ()41 (5.4)% 1 (24.84)2
(4.6)2+(5.4)°+24.84

Ans X1 24.42
' 2 2548
X'3.2424

T AT FIT &2
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Question ID : 558101464
Status : Not Answered
Chosen Option : =

Q8 b(a—b) + be(b —¢) + ca(c — a) Foafaf@T § ¥ s s 2
A X1 (a—b)(b+ c)c—a)

V2 (b—-a)b—c)c—a)

X3 (@a+b)(b—c)c—a)

X4 (@a—Db)(b—c)c—a)

Question ID : 558101522
Status - Anewered
Chosen Option : 4

Q84 e wfFa 80 R T wlear § 3 3% 30 fram & O e aw apam & seT & ae W A
T ¥ SEF T T wigeT F4T i7

a
<235
V3 372
< 4 40

Ans

Question ID : 558101480
Status : Not Answered

Chosen Option : =

Q88 o= wraer st T ST FT AR AW 24 WET ¥ 7% a9 0.5 W Fied gl sea & =ex
(f2) @ == g1 §) 5O H F [T 8 (79 ¥ ) Fraen 37

Ans X1 468.75T
X< 2 600.57
X 3 600.2%
v 61275

Question ID : 558101509
Status : Not Anewered

Chosen Option : =

Q88 7\poR @ aiTFE S ¥ IR LPSR=125° ¥ & 2PQR &r AT FT N7
Ans 5 7g0

<2 80°

V'3 70°

< 4 B5°

(
Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In
Question ID : 558101532
Status : Answered
Chosen Option: 3

.87 cosec
Q uTe sech + tanf = p,(p > 1)%,F|T¢ =

cosecd -1
An
S x 1.2 pz

sz_ﬂ

p-1

v p?
}(4.p—_1

p+1

Question ID : 558101547
Status : Not Anewered

Chosen Option : =

Q88 i 351 F 5y Ram Fw I F a9y x A & o o 4% w6 ¥ R R o B
ar A9 y s §1 (2x—y) FAFAFIE ?

Ans X1._4
<22
v -2
<44

Question ID : 558101459
Status : Not Anewered

Chosen Option : =

Q89 2 FEst x # y F TG FANEE 3% Agedd FATEE § 204 TN ¥ I 37T AgeaA
THETTTSF 12 T Tt F T T aw 60 &, A o x+y =2

Ans 1. 852
X 2 426
v 348
X 4 660

Question ID : 558101470
Status : Not Anewered

Chosen Option : =

Q90 o s o Fr T 3R FE F A 5 0 12 ¥ SR T 55 8 816.4 = Wl {1 o
FET (WA A ) FRaeT $2(7 = 3.14 F)

Ans 1. 3140
v 2512
X 3 628
X 4 1256

Question ID : 558101514
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Status : Not Answered
Chosen Option : =

Q91 ofy y & vew-aiurd ¥ 30% & 2.5 0T FNA, x F FY F 5% F WL &, A x, v ¥ Faw gyww
FH YT HOw 27

A o1 50% T
x 2 33§%am
X 3 33&% kX S ED
< 4 50% FH

Question ID : 558101478
Status : Answered
Chosen Option : 1

Q92 v avqg 1 sifra wEw 21500 § 3R 1% F & FEw gesfa HqEw 1587.40 F Ikl gE F AW
¥ ofx AT Arw W AE <% F UF T & 7% @ o 39 IEG FFT AeT FA g

Ans - X1.%1,155
< 2 31,200
<3 31,025
v 431,170

Question ID : 558101488
Status : Not Anewered

Chosen Option : =

ass ]
afy XU g x =0 A V4= FAEAFE?
X

Vx
Ans X e
1. ||_
3

2 |3
3
F S i
3
Xoa |28
3

Question ID : 568101626
Status : Not Anewered

Chosen Option : =

Q.94 uﬁ'ﬂ+ﬂ=%,0°<9<90° ¥ v (tanf + sec6)™* T AT FAT 2

1+cosf sinf
Ans x 13 ‘V!i
K2 2+43
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X4 3+42

Question ID : 558101548
Status : Not Answered
Chosen Option : —

Q.95 =xor Hr #E s Tfr 36,760 Fr & veEE ataf¥s et & e s & oofy i ww @
THYE = 5T 8% S A ofr, F U W = F 7 F et af F apra= frar

Ans 1. 790
v 2 F770
X 3 ¥750
X 4 %810

Question ID : 558101489
Status : Not Anewered

Chosen Option : ==

Q96 sinf +cosf—1 tan®B{cosec®8-1)

FTHTT FATE ?

singd —cos@+1 secd —tanf

Ans  of 11
X20
X3 —1

1
4, i
X4 =

Question ID : 558101541
Status : Not Anewered

Chosen Option : =

as7 sin?64° + cos64°sin26° + 2cos43°cosecd7° FT AT FIT %‘7

Ans XT 4
<22
<31
v 3

Question ID : 558101549
Status : Anewered
Chosen Option : 4

Q98 v T & frafvae 1 Ay F A B % 1 g F40% REw A I §, TR R g R A @
40% & #r 9 FvEE & @wr I o= g5 qf # 12 Refve & & wer 81 swE ww A
(et afe wen) faraar 372

3
< 9;
1
XZ. g;

Ans
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Question ID : 558101502
Status : Not Answered
Chosen Option : =

Q99 o wmg F 120 Rewfiat #r siw g 13.56 39 ¥ Rzt $r T #1 35% wEtHEE AR 9w
o= 1 Ay o A wsfeat & stee 3 = s 6 0 5 &, & wsfkat & e arg @ @) F
&7

Ans X1 14.4
<210
xX311.6
V12

Question ID : 558101494
Status : Not Anewered

Chosen Option : =

Q100 o500 (67°+ 8) — sec(23° — 8) + cos15°cos35°cosech5°cos60°cosec? 5°
FT AT T &7

Jti
<21
<30
<42

Ans

Question ID : 566101550
Status : Not Anewered

Chosen Option : =
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